NIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

SI. No. 1

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection work of Chetua Circuit Embankment from Ch. 26.20 Km to 27.00 Km along R/B of River Rupnarayan in Mouzas- Uttar Bard in Block- Daspur- II, of Ghatal Irrigation Sub-Division under West Midnapore Division."

	Amount put to Tender : Earnest Money : Time allowed for Completion :		3,00,00 \$ 6,000 Day	.00		
SI.	Description of Items	No. or	Unit	Estim	ated Rate	Amount
No.		Quantity	210000	Figure	Word	0 - 10386538752 0
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	2000.00	sqm	হ্ব 7.70	Rupees seven and paise seven zero only	₹ 15,400.00
2	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	5100.00	each	হ 5.00	Rupees five and paise zero only	रु 25,500.00
3	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-In-charge.	\$100.00	each	रु 6.30	Rupees six and paise three zero only	रू 32,130.00
4	Extra rate in SI. no. 10 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. 5 (five) Extra Lead	5100.00	each	₹ 11.50	Rupees eleven and paise five zero only	रु 58,650.00
5	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	200.00	cum	रु 138.90	Rupees one hundred thirty eight and paise nine zero only	₹ 27,780.00

SI.	Description of Items	No. or Quantity	Unit	Estin	nated Rate	Amount
No.				Figure	Word	
6	Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. N8:- This item is applicable only where the track/ tractors are not accessible at site. 3 (three) Extra Lead	200.00	cum	₹ 62.10	Rupees sixty two and paise one zero only	₹ 12,420.00
	Clearing and removing weeds and water hyacinth including all leads and lifts and burning them to ashes after drying.	22090.00	sqm	रु 5.80	Rupees five and paise eight zero only	₮ 1,28,122.00
	Total Amount put to Tender in figure =				1	रु 3,00,002.00
	Total Amount put to Tender in word :	F	Rupees t	hree lakh fo	rty thousand eight	y only

IN Executive Engineer

West Midnapore Division Irrigation & Waterways Dte. Paschim Medinipur

I / We do hereby agree to do the above work @.....

Above / Less / At par than this Schedule Of Rates attached herewith.

(Signature of the Contractor)

Abstract of Cost

NIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

SI. No. 2

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection work of Chetua Circuit Embankment from Ch. 27.10 Km to 28.00 Km along R/B of River Rupnarayan in Mouzas- Uttar Bard in Block- Daspur- II, of Ghatal Irrigation Sub-Division under West Midnapore Division."

	Amount put to Tender : Earnest Money : Time allowed for Completion :	15				
51,	Description of Items	No. or	Unit		ated Rate	Amount
No.		Quantity		Figure	Word	
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	1459.30	sqm	क 7.70	Rupees seven and paise seven zero only	₹ 11,237.00
2	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	4200.00	each	₹ 5.00	Rupees live and paise zero only	₹ 21,000.00
3	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	4200.00	each	₹ 6.30	Rupees six and paise three zero only	₹ 26,460.00
4	Extra rate in SI. no. 10 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. 4 (four) Extra Lead	4200.00	each	₹ 9.20	Rupees nine and paise two zero only	₹ 38,640.00
5	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	200.00	cum	रु 138.90	Rupees one hundred thirty eight and paise nine zero only	₹ 27,780.00

Page 2 of 2

SI.	Description of Items	No. or Quantity	Unit	Estin	Amount	
No.				Figure	Word	
6	Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. 3 (three) Extra Lead	200.00	cum	₹ 62.10	Rupees sixty two and paise one zero only	रु 12,420.00
	Total Amount put to Tender in figure =				·	₹ 1,37,537.00
	Total Amount put to Tender in word :	Rupees o	ne lakh	thirty seven	thousand eight hu	ndred fifty only

Executive Erigin West Midnapore Division

West Midnapore Division Irrigation & Waterways Dte. Paschim Medinipur

I / We do hereby agree to do the above work @.....

Above / Less / At par than this Schedule Of Rates attached herewith.

NIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 3

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection work of Chetua Circuit Embankment at Ch. 30.00 Km along R/B of River Palaspai over Gomrai Khal in Mouzas- Nischinta pur , GP - Nischintapur in Block-Daspur- II, of Ghatal Irrigation Sub-Division under West Midnapore Division."

SI.	Description of Items	No. or	Unit	Estin	nated Rate	Amount
No.		Quantity		Figure	Word	
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	250.00	sqm	হ 7.70	Rupees seven and paise seven zero only	₹ 1,925.0D
2	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	2100.00	each	रू 5.00	Rupees five and paise zero only	₹ 10,500.00
3	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	2100.00	each	₹ 6.30	Rupees six and paise three zero only	रु 13,230.00
4	Extra rate in SI. no. 10 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. 4 (four) Extra Lead	2100.00	each	₹ 9.20	Rupees nine and paise two zero only	रु 19,320.00
5	Clearing and removing weeds and water hyacinth including all leads and lifts and burning them to ashes after drying.	15700.00	cum	रु 5.80	Rupees five and paise eight zero only	₹ 91,050.00

Total Amount put to Tender in word :

Rupees one lakh thirty six thousand thirty five only

Executive Engineer

West Midnapore Division Irrigation & Waterways Dte. **Paschim Medinipur**

I / We do hereby agree to do the above work @.....

Above / Less / At par than this Schedule Of Rates attached herewith.

Page 1 of 1

Govt. of West Bengal Irrigation & Waterways Dtc. Office of the Executive Engineer West Midnapore Division Medinipur, Paschim Medinipur

NIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 4

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection work of Chetua Circuit Embankment from Ch. 32.00 Km along L/B of River Palaspai along with sluice sealing of Kole sluice in Mouzas- Nischinta pur, GP -Nischintapur in Block- Daspur- II, of Ghatal Irrigation Sub-Division under West Midnapore Division."

	Amount put to Tender Earnest Money		3,03,9 ₹ 6,07	9.00		
51.	Time allowed for Completion : Description of Items	No. or	Da			
No.		Quantity		Figure	mated Rate	Amount
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	50.00	sqm	হ 7.70	Word Rupees seven and paise seven zero only	रु 385.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	11300.00	Each	হ 5.00	Rupees five and paise zero only	रू 56,500.00
з	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	11300.00	Each	रु 6.30	Rupees six and paise three zero only	ক 71,190.0D
4	Extra rate in SI. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. 6 (six) Extra Lead	11300.00	Each	হ 13.80	Rupees thirteen and paise eight zero only	ক 1,55,940.00
5	Supplying Nylon cage netting 1 metre x 1 metre x 1 metre size with knot having mesh size 17.5 cm x 17.5 cm constructed with nylon thread (210 x 24) having tensile strength not less than 250 Kg. / sq. cm. including carriage, delivery and stacking at site inclusive of all taxes complete	181.00	Each	₹ 110.00	Rupces one hundred ten and paise zero only	₹ 19,910.00
	Total Amount put to Tender in figure =					₹ 3,03,925.00

Executive Engineer West Midnapore Division Irrigation & Waterways Dte.

Paschim Medinipur

I / We do hereby agree to do the above work @.....

Above / Less / At par than this Schedule Of Rates attached herewith.

(Signature of the Contractor)

Abstract of Cost

NIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 5

Schedule of Quantity, Unit, Rate and Amount for the work, , "Emergent protection work of Mohankhali Circuit Embankment from Ch. 1.00 Km to 2.30 Km along L/B of River Durbachati in Mouzas- Dogachia, Maguria , GP -Dudkumra in Block- Daspur- II, of Ghatal Irrigation Sub-Division under West Midnapore Division."

	Amount put to Tender : Earnest Money : Time allowed for Completion :	(A				
SI.	Description of Items	No. or	Dav Unit		nated Rate	Amount
No.		Quantity		Figure	Word	S (1000-000-00
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-In- charge.	2625.00	sqm	₹ 7.70	Rupees seven and palse seven zero only	रु 20,213.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	567.00	m	रू 23.60	Rupees twenty three and paise Six zero only	₹ 13,381.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	378.00	m	ফ 6.30	Rupees six and paise three zero only	रु 2,381.00
4	Supplying, fiting, fixing with Iron nails, half split bamboo walling pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	108.00	m	रु 19.30	Rupees nineteen and paise three zero only	रु 2,084.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	8500.00	each	₹ 5.00	Rupees five and paise zero only	ৰ 42,500.00
	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	8500.00	each	रु 6.30	Rupees six and paise Unree zero only	₹ 53,550.00
7	Extra rate in SI. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. 5 (five) Extra Lead	8500.00	each	₹ 11.50	Rupees cloven and paise five zero only	₹ 97,750.00

sı.	Description of Items	No. ar	Unit	Estim	ated Rate	Amount
No.		Quantity		Figure	Word	
8	Extra rate in Sl. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. 5 (five) Extra Lead	300.00	cum	रु 138.90	Rupces one hundred thirtry eight and paise nine zero only	रु 41,670.00
9	Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. 4 (Four) Extra Lead	300.00	cum	ষ 82.80	Rupees eighty two and paise eight zero only	₹ 24,840.00
	Total Amount put to Tender in figure =					₹ 2,98,369.00
	Total Amount put to Tender in word :	Rupees tw	o lakh r		iousand three hu nly	ndred sixty nine

Executive Engine West Midnapore Division Irrigation & Waterways Dte. Paschim Medinipur

A

I / We do hereby agree to do the above work @.....

Above / Less / At par than this Schedule Of Rates attached herewith.

Page 1 of 2

Govt. of West Bengal Irrigation & Waterways Dte. Office of the Executive Engineer West Midnapore Division Medinipur, Paschim Medinipur

NIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

SL No. 6

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection work of Mohankhali Circuit Embankment from Ch. 2.50 Km to 3.00 Km along L/B of River Durbachati in Mouzas- Shyamganj , GP - Jote Ghanashyam in Block- Daspur- II, of Ghatal Irrigation Sub-Division under West Midnapore Division."

	Amount put to Tender : Earnest Money : Time allowed for Completion :	00.00 0.00 ys				
SI.	Description of Items	No. or	Unit	Estin	mated Rate	Amount
No.		Quantity	0	Figure	Word	
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	7000.00	sqm	হ 7.70	Rupees seven and palse seven zero only	रु 53,900.00
2	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	4000.00	Each	₹ 5.00	Rupces five and paise zero only	₹ 20,000.00
3	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	4000.00	Each	₹ 6.3D	Rupees six and paise three zero only	₹ 25,200.00
	Extra rate in SI. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. 5 (five) Extra Lead	4000.00	Each	₹ 11.50	Rupees cleven and paise five zero only	₹ 46,000.00
5	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	100.00	Cum	₹ 138.90	Rupees one thirty eight and palse nine zero only	रु 13,890.00

Page 2 of 2

SI.	Description of Items	No. or Quantity	Unit	Estim	ated Rate	Amount
No.	(Figure	Word	 Detricoversion
6	Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. 3 (three) Extra Lead	100.00	Cum	रु 62.10	Rupees sixty two and paise one zero only	₹ 6,210.00
7	Clearing and removing weeds and water hyacinth including all leads and lifts and burning them to ashes after drying.	23500.00	sqm	₹ 5.80	Rupees fiveand paise eight zero only	₹ 1,36,300.00
	Total Amount put to Tender in figure =					₹ 3,01,500.00
	Total Amount put to Tender in word :	Ru	pees thre	e lakh one l	housand five hund	fred only

Executive Engineer West Midnapore Division Irrigation & Waterways Dte. Paschim Medinipur

I / We do hereby agree to do the above work @.....

Above / Less / At par than this Schedule Of Rates attached herewith.

NIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 7

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection work of Mohankhali Circuit Embankment from Ch. 40.00 Km to 40.50 Km along R/B of River Palaspai in Mouzas & GP - Jote ghanashyam in Block-Daspur- II, of Ghatal Irrigation Sub-Division under West Midnapore Division."

- 22

-	Amount put to Tender : Earnest Money : Time allowed for Completion :	- 74	₹ 68,04 ₹ 1,36: Da	1.00		
SI. No.	Description of Items	No. or	Unit		mated Rate	Amount
NO.	Uprooting, clearing and cleaning all types of thick and	Quantity		Figure	Word	10000000
1	thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	200.00	sqm	হ 7.7 0	Rupees seven and paise seven zero only	₹ 1,540.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	90.00	Mtr.	₹ 23.60	Rupces twenty three and paise six zero only	₹ 2,124.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (I) Where boats are not necessary	60.00	Mtr.	হ 6.30	Rupees six and paise three zero only	ন্ 378.00
4	Supplying, fiting, fixing with iron nails, half split bamboo wailing pleces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	24.00	Mtr.	₹ 19.30	Rupees nineteen and paise three zero only	ক 463.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	600.00	Each	₹ 5.00	Rupees five and paise zero only	₹ 3,000.00
6	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the ingineer-in-charge.	600.00	Each	₹ 6.30	Rupees six and paise three zero only	₹ 3,780.00
7 6	Extra rate in Sl. No. 6 above for each additional lead of 50 metres or part thereof over initial lead of 150 metres. 12 (twelve) Extra Lead	600.00	Each	₹ 27.60	Rupees twenty seven and paiso six zero only	रु 16,560.00

SI.		No. or Quantity	Unit	Estin	ated Rate	Amount
No.				Figure	Word	
8	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	S200.00	Cum	रु 138.90	Rupees one hundred thirty eight and paise nine zero only	रू 27,78D.00
	Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. 3 (three) Extra Lead	200.00	Cum	रु 62.10	Rupees sixty two and paise eight one zero only	रु 12,420.00
	Total Amount put to Tender in figure =					₹ 68,045.00
	Total Amount put to Tender in word :		Rupees	sixty eight th	ousand forty five	poly

Executive Engineer

West Midnapore Division Irrigation & Waterways Dte. Paschim Medinipur

I / We do hereby agree to do the above work @.....

Above / Less / At par than this Schedule Of Rates attached herewith.

NIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

SI. No. 8

Schedule of Quantity, Unit, Rate and Amount for the work, , "Emergent protection work of Mohankhall Circuit Embankment from Ch. 43.00 Km to 45.00 Km along R/B of River Palaspai in Mouzas-Kultikari , GP - Dudkumra in Block-Daspur- II, of Ghatal Irrigation Sub-Division under West Midnapore Division."

\$1,	Description of Items	No. or	Day		mated Rate	Amount
No.		Quantity		Figure	Word	Autount
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	2796.00	sqm	रू 7.7 0	Rupees seven and paise seven zero only	₹ 21,529.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	378.00	Mtr.	₹ 23.60	Rupees twenty three and paise six zero only	₹ 8,921.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	252.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	रू 1,588.00
4	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	72.00	Mtr.	₹ 19.30	Rupees nineteen and paise three zero only	₹ 1,390.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	9600.00	Each	रु 5.00	Rupees five and paise zero only	₹ 48,000.00
6	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	9600.00	Each	₹ 6.30	Rupnes six and paise three zero only	₹ 60,480.00
	Extra rate in Sl. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. 4 (four) Extra Lead	9600.00	Each	ন্ড 9.20	Rupees nine and paise two zero only	₹ 88,320.00

Page 2 of 2

SI.	Description of Items	No. or	Unit	Estin	nated Rate	Amount
No		Quantity		Figure	Word	- Contraction
8	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-Incharge.	300.00	Cum	₹ 138.90	Rupees one hundred thirty eight and paise nine zero only	रु 41,670.00
9	Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. 3 (three) Extra Lead	300.00	Cum	₹ 62.10	Rupees sixty two and paise eight one zero only	रु 18,630.00
10	Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge. (a) Jhama bats	99.79	Cum	ক 1,500.00	Bupees one thousand live hundred and paise zero only	रु 1,49,685.00
11	Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with hand roller/Power roller true to line and camber including carriage, cost of all materials (except jhama khoa) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.67	66.86	Cum	रू 131.70	Rupees sixty two and paise eight one zero only	₹ 8,805.00
-	Total Amount put to Tender in figure =					₹ 4,49,018.00

Executive Englisher

West Midnapore Division Irrigation & Waterways Dte. Paschim Medinipur

I / We do hereby agree to do the above work @.....

Above / Less / At par than this Schedule Of Rates attached herewith.

NIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 9

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection work of Chetua Circuit Embankment from Ch. 28.10 Km to 29.00 Km along R/B of River Rupnarayan in Mouzas- Mahis Ghata in Block- Daspur- II, of Ghatal Irrigation Sub-Division under West Midnapore Division."

2	Amount put to Tender : Earnest Money : Time allowed for Completion :		1,70,2 ₹ 3,404 Day	4.00		
SI.	Description of Items	No. or	Unit		mated Rate	Amount
No		Quantity	* (2000)	Figure	Word	
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	180.00	sqm	₹ 7.70	Rupees seven and paise seven zero only	₹ 1,386.0D
z	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	504.00	Mtr.	ক 23.60	Rupees twenty three and palse six zero only	₹ 11,894.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	336.00	Mtr.	₹ 6.30	Rupces six and paise three zero only	₹ 2,117.00
4	Supplying, fitting, fixing with Iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	96.00	Mtr.	₹ 19.30	Rupees nineteen and palse three zero only	₹ 1,853.00
5	Supplying to site 2nd hand coment polly bags in good condition delivered and stacked (capacity 50 kg).	5500.00	Each	क 5.00	Rupees five and paise zero only	₹ 27,500.00
1	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	5500.00	Each	হ 6.30	Rupees six and paise three zero only	रु ३४,650.00
7	Extra rate in SI. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. 4 (four) Extra Lead	5500.0D	Each	₹ 9.20	Rupees nine and paise two zero only	₹ 50,600.00

si.	Description of Items	No. or	Unit	Estin	Amount	
No.		Quantity	10000	Figure	Word	0.00000000000
8	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. Including all lifts, as directed by the Engineer-incharge.	200.00	Cum	₹ 138.90	Rupees one hundred thirty eight and paise nine zero only	₹ 27,780.00
9	Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. 3 (three) Extra Lead	200.0D	Cum	₹ 62.10	Rupees sixty two and paise one zero only	₹ 12,420.00
	Total Amount put to Tender in figure =					रु 1,70,200.00

Rupees one lakh seventy thousand two hundred only

814 Executive Enginper

West Midnapore Division Irrigation & Waterways Dtc. **Paschim Medinipur**

I / We do hereby agree to do the above work @.....

Above / Less / At par than this Schedule Of Rates attached herewith.

NIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 10

Schedule of Quantity, Unit, Rate and Amount for the work, "Supply of Gunny Bag at Ajuria Godown at Mouza - Ajuria, GP - Palaspai, of Ghatal Irrigation Sub-Division under West Midnapore Division."

SI.	Amount put to Tender : Earnest Money : Time allowed for Completion :		5 75,000 5 1,500 Day	.00		
No.	Description of Items	No. or	Unit	Estin	nated Rate	Amount
	Supplying to site 2-11	Quantity		Figure	Word	
1	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	15000.00	Each	रु 5.00	Rupees five and paise zero only	₹ 75,000.00
	Total Amount put to Tender in figure =					₹ 75,000.00
	Total Amount put to Tender in word :		Rup	ees seventy	five thousand only	,

Executive Engineer West Midnapore Division

Irrigation & Waterways Dte. Paschim Medinipur

I / We do hereby agree to do the above work @.....

Above / Less / At par than this Schedule Of Rates attached herewith.

NIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 11

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection work of Chetua Circuit Embankment from Ch. 30.10 Km to 31.00 Km along L/B of River Palaspai in Mouzas & GP - Nischintapur in Block- Daspur- II, of Ghatal Irrigation Sub-Division under West Midnapore Division."

	Amount put to Tender : Earnest Money :	ş (6	2,90,5 \$ 5,811	202207		
SI.	Time allowed for Completion :		Day			
No.	Description of Items	No. or Quantity	Unit		mated Rate	Amount
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	332.50	sqm	Figure ক 7.70	Word Rupees seven and paise seven zero only	रु 2,560.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	420.00	Mtr.	₹ 23.60	Rupces twenty three and paise six zero only	₹ 9,912.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	280.00	Mţr,	₹ 6.30	Rupees six and paise three zero only	रू 1,764.00
4	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	60.00	Mtr.	₹ 19.30	Rupoes nineteen and paise three zero only	₹ 1,158.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	9000.00	Each	रु 5.00	Ruppes five and paise zero only	₹ 45,000.00
6	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	9000.00	Each	रु 6.30	Rupees six and paise three tero only	रु 56,700.00
2	Extra rate in SI. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. 10 (ten) Extra Lead	9000.00	Each	रु 9.20	Rupees nine and paise two zero only	₹ 82,800.00

sl.	Description of Items	No. or	Unit	Estim	Amount	
No.		Quantity		Figure	Word	
8	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	200.00	Cum	ন্ব 138.90	Rupees one hundred thirty eight and paise nine zero anly	रु 27,780.00
9	Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. 3 (three) Extra Lead	200.00	Cum	₹ 62.10	Rupees sixty two and paise one zero only	रु 12,420.00
10	Clearing and removing weeds and water hyacinth including all leads and lifts and burning them to ashes after drving.	8700.00	sqm	रू 5.8 0	Rupees five and paise eight zero only	ক 50,460.00
-	Total Amount put to Tender in figure =					₹ 2,90,554.00

P Executive Enginder

West Midnapore Division Irrigation & Waterways Dte. Paschim Medinipur

I / We do hereby agree to do the above work @.....

Above / Less / At par than this Schedule Of Rates attached herewith.

NIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 12

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection work of Chetua Circuit Embankment in between Ch. 29.20 Km to 30.00 Km along R/B of River Rupnarayan in Mouzas - Mahisghata GP- Kheput in Block-Daspur- II, of Ghatal Irrigation Sub-Division under West Midnapore Division."

SI.	Amount put to Tender Earnest Money Time allowed for Completion		5 5,50,3 ▼ 11,00 Da			
No	Description of items	No. or	Unit		mated Rate	Amount
	Uprooting, clearing and cleaning all types of thick and	Quantity		Figure	Word	-
1	thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in charge.	2763.00	sqm	ৰু 7.70	Ruppes seven and palse seven zero only	
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1776.25	Mtr.	₹ 23.60	Rupees twenty three and paise six zero only	₹ 41,920.00
з	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	1184.17	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 7,460.00
4	Supplying, fiting, fixing with iron nails, half split bamboo walling pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	350.00	Mtr.	₹ 19.30	Rupees nineteen and paise three zero only	₹ 6,755.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	15300.00	Each	₹ 5.00	Rupees five and paise zero only	₹ 76,500.00
6	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	15300.00	Each	₹ 6.30	Rupees six and paise three zero only	₹ 95,390.00
, 1	Extra rate in SI. No. 6 above for each additional lead of 50 metres or part thereof over initial lead of 150 metres. 5 (six) Extra Lead	15300.00	Each	₹ 13.80	Rupees nine and paise two zero only	₹ 2,11,140.00

51.	Description of Items	No. or	Unit	Estim	Amount	
No.		Quantity		Figure	Word	15058
8	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	400.00	Cum	হ 138.90	Rupees one hundred thirty eight and paise nine zero only	रु 55,560.00
	Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. 4 (four) Extra Lead	400.00	Cum	₹ 82.80	Rupees sixty two and paise one zero only	रु 33,120.00
	Total Amount put to Tender in figure =					₹ 5,50,120.00

Executive Engineer

Executive Engineer \ West Midnapore Division Inrigation & Waterways Dte. Paschim Medinipur

I / We do hereby agree to do the above work @.....

Above / Less / At par than this Schedule Of Rates attached herewith.

NIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 13

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection work of Dussaspur Circuit Embankment from Ch. 26.00 Km to 28.00 Km along L/B of River Bhosra Khal in Mouzas - Godaipur GP- Sarbarla -II in Block- Daspur- I,PS - Daspur of Ghatal Irrigation Sub-Division under West Midnapore Division."

SI.	Time allowed for Completion : Description of Items		15 Da		and Barry	C
No.	Description of items	No. or Quantity	Unit	Figure	nated Rate Word	Arnount
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-In- charge.	962.50	sqm	ন্টুৱাহ হ 7.70	Rupees seven and palse seven zero only	ষ 7,411.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1080.00	Mtr.	₹ 23.60	Rupees twenty three and paise six zero only	₹ 25,488.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	540.00	Mtr.	रु 6.30	Rupees six and paise three zero only	₹ 3,402.00
4	Supplying, fiting, fixing with Iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	200.00	Mtr.	হ 19.30	Rupees nineteen and palse three zero only	रु 3,860.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	9616.00	Each	হ 5.00	Rupees five and paise zero only	হ 48,080.00
6	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	9616.00	Each	₹ 6.30	Rupees six and paise three zero only	₹ 60,581.00
7	Extra rate in SI. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. 10 (ten) Extra Lead	9616.00	sqm	₹ 23.0D	Rupees twenty three and paise zero only	₹ 2,21,168.00
8	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	210.00	Cum	₹ 138.90	Rupoes one hundred thirty eight and paise nine zero only	₹ 29,169.00
_	Total Amount put to Tender in figure =		1.00			₹ 3,99,159.00

Executive Engineer West Midnapore Division Irrigation & Waterways Dte. **Paschim Medinipur**

I / We do hereby agree to do the above work @.....

Above / Less / At par than this Schedule Of Rates attached herewith.

Abstract of Cost

NIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 14

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection work of Dussaspur Circuit Embankment from Ch. 10.50 Km to 11.00 Km along L/B of River Old Cossye in Mouzas - Samatbaria GP- Nandapur-I in Block- Daspur-I,PS - Daspur of Ghatal Irrigation Sub-Division under West Midnapore Division."

	Earnest Money :		83,773 1,675	.00		
	Time allowed for Completion :	<u>v </u>	15 Da			
SI. No.	Description of Items	No. or	Unit		nated Rate	Amount
NO.		Quantity		Figure	Word	
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	855.00	sqm	₹ 7.70	Rupees seven and paise seven zero only	ক 6,584.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	432.00	Mtr.	হ 23.60	Rupees twenty three and paise six zero only	रु 10,195.0
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	216.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 1,361.00
4	Supplying, fitting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	80.0D	Mtr.	रु 19.30	Rupces nineteen and paise three zero only	₹ 1,544.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	2339.00	Each	ক 5.00	Rupees five and paise zero only	₹ 11,695.00
6	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	2339.00	Each	₹ 6.30	Rupees six and paise three zero only	रु 14,736.00
7	Extra rate in SL No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. 10 (ten) Extra Lead	2339.00	sqm	₹ 16.10	Rupees sixteen three and paise one zero only	रु 37,658.00
	Total Amount put to Tender in figure =					₹ 83,773.00

Executive Enginee

West Midnapore Division Irrigation & Waterways Dte. Paschim Medinipur

I / We do hereby agree to do the above work @.....

Above / Less / At par than this Schedule Of Rates attached herewith.

NIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 15

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection work of Dussaspur Circuit Embankment from Ch. 20.00 Km to 20.50 Km along L/B of River Bhosra khal in Mouzas - Paikanboalia , GP-Nandanpur -II in Block- Daspur- I, PS - Daspur of Ghatal Irrigation Sub-Division under West Midnapore Division."

	Time allowed for Completion : Description of Items	No. or	Unit	Estimated Rate		Amount
SI.	Description of items	Quantity		Figure	Word	
<u>No.</u> 1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in-	448.00	sqm	इ 7.70	Rupees seven and paise seven zero only	₹ 3,450.00
2	charge. Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.5D cm diametre.	594.00	Mtr.	₹ 23.60	Rupces twenty three and paise six zero only	⊽ 14,018.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	297.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 1,871.00
4	Supplying, fitting, fixing with iron nails, half split bamboo wailing pletes. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	110,00	Mu.	₮ 19.30	Rupees nineteen and paise three zero only	₹ 2,123.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	2853.00	Each	⊽ 5.00	Rupees five and paise zero only	₹ 14,265.00
6	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	2853.00	Each	₹ 6.30	Rupees six and paise three zero only	₹ 17,974.00
7	Extra rate in SI. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. 10 (ten) Extra Lead	2853.00	sqm	¥ 9.20	Ruppes nine and paise two zero only	₹ 26,248.00

C **Executive Enginee**

West Midnapore Division Irrigation & Waterways Dte. Paschim Medinipur

I / We do hereby agree to do the above work @.....

Above / Less / At par than this Schedule Of Rates attached herewith.

(Signature of the Contractor)

Abstract of Cost